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1. Population 

 

average age 

Reasons 

Population 

Increase Increased consumption 

of resources 

Factors promoting 

growth 

Areas of highest 

growth 

Why? 

x2 over last 

50 years 

Est. 

11bn 2050 

14bn 2100 

Annual supply of 

renewables used 

up by August 

Takes 15 months 

to regenerate 

what is consumed 

in 12 months 

Much of 

humanity = 

young & fertile 

Developing countries, e.g.: 

Africa (54 

countries) 

India Latin 

America 

20 under 25 29 

Why do people have large 

families in poorer 

countries? 

Social 

Religious 

Economic 

Cultural 

Agrarian societies 

No pensions or 

social security  

∴  

children 

expected to 

care for parents 

in old age 

Labour 

intensive  

∴  

children as 

cheap labour 

Limited access to education 

for women 

Burkina Faso Australia 
With education, 

more likely to 

Marry 

later 

Have 

fewer 

children 

Use 

contraception 

Challenge traditional gender ideas of a woman 

99% 

1.77 

children 

⅓ can read and write 

Average family = 

5 to 6 children 

High child 

mortality rate 

Burkina Faso 

8.9% 

Australia 

0.4% 

Haiti 

6.9% 
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2. Food production/distribution 

 Food production/ distribution 

Food production = uneconomical Distribution = unequal Consequences 

Grazing 

Around x2 of 

world’s surface 

used for grazing 

vs. land used to 

grow crops 

But contributes 

1 gram of 81 

grams consumed 

per person per 

day 

Rich countries = ¼ of world’s 

population but consumes ½ world’s 

agricultural products  
1 billion go 

hungry + 2.3 

million children 

die every year 

from malnutrition 

Exhaustion of 

sustainable 

resources 

Re. 3 

Climate change 

Re. 5  

Disappearance of 

birdlife, insects, 

oxygenating plants 

Re. 3 

Convert crops to 

meat 

Majority of corn 

& soya feeds 

cattle, pigs, 

chickens = 

uneconomical 

4kg grain 

= 1kg 

pork 

2kg grain 

= 1kg 

chicken 

7kg grain 

= 1kg 

beef 
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3. Biodiversity 

 Biodiversity/ sustainability 

Importance of 

biodiversity = 

foundation of 

life on Earth 

How is it affected? 

Smaller bird 

population 

Incentives Likely consequences 

Water 

Food 

Fewer fisheries 

Less clean 

drinking water 

Harvesting trees 

faster than they 

can regrow ∴ 

Farmers 

Fewer land 

species Increased food 

production 

Subsidies 

Increased 

use of 

pesticides 

Encourage 

unsustainable 

production 

Disappearance of 

birdlife, insects and 

oxygen-producing 

plants 

Globalised 

markets 

Overfishing 

Inability 

to 

provide 

food and 

water 

Civilisation 

collapse 
Disappearance of 

wetlands 

A ‘near 

certainty’ in 

next few 

decades (Paul 

Ehrlich) 

Converted 

into shrimp 

farms to 

supply larger, 

more distant 

markets 

Taking nutrients 

from the soil 

faster than they 

can be replenished 

Habitat 

loss 

Grain production Grazing land Emitting CO2 into 

atmosphere faster 

than nature can 

absorb it 

Land cleared 

for 

Pollination 

Pollination & seed 

distribution 

Clean air Insects/ 

birds 

Oxygen 

producing 

plants 

Deforestation ∴ 

habitat loss 
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4. Economy 

 Economy 

Emphasis on 

economic growth 
Subsidies for agriculture 

New markets in 

developing countries Globalised markets 

= incentives to 

increase production 

Cutting back 

forests for grain 

production 

Disappearance 

of wetlands 

Supports 

unsustainable 

production e.g. 

more than 1 billion 

people have to 

survive on less than 

$1 a day 

Compared to 

$2 subsidy a 

day on every 

cow in the EU 

Changes in 

diets to meat 

consumption 

Increased wealth & 

disposable income  

Leads to 

degradation of 

nature 

Shrimp 

farms 

Overfishing 
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5. Climate change 

 Climate change 

Emitting CO2 into the 

atmosphere faster 

than nature can 

absorb it 

CO2 increases as forests 

cleared + wetlands 

disappearing ∴ reduction 

in capacity to absorb 

greenhouse gases 

Consequences 

50% increase in 

livestock in 50 

years ∴ increase 

in methane gas 

Floods and 

extreme rainfall 

will increase by 

50% in a decade 

4x higher rate 

of occurrence 

Events resulting in 

climate related loss or 

damage have increased 

by 92% since 2010 

Storms, droughts, 

heatwaves will 

increase by more 

than ⅓ 

2x as frequent 

as in 1980 


